MATH 32B
FIRST MIDTERM EXAMINATION

Please show your work. You will receive little or no credit for a correct answer to a
problem which is not accompanied by sufficient explanations. If you have a question about
any particular problem, please raise your hand and one of the proctors will come and talk to
you. At the completion of the exam, please hand the exam booklet to your TA. If you have
any questions about the grading of the exam, please see the instructor within 15 calendar

days of the examination.
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Problem 1. Evaluate the integral
¥ .8
f zf " zysin(e®y) dy dz.
2 hg/ o Jo
T A U=w2y
N . 2 A Jur?_x;fo\)‘»
J CXySin CK y) ))wly
v 5 W —
N N = & N %‘z J
_‘?L \ f&.n(u)du dy = 2J [COS( v) o
g O

Scanned by CamScanner

£l



32B MIDTERM 1 Radko .
r Problem 2. Use a triple integral of the form \ ‘ /(
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Prpblem 3. Use integration in polar coordinates to find the area of the region that lies
inside of the circle (z - 1)2
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Problem 4. Set up (

but do not e ¥ 3 . . .
valu i ‘ lindrical coordinates that
represents the volume ate) triple integral in cyli

of the region bounded by the zy-plane and the surfaces
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Problem 5. Set up (but do not evaluate

) triple integral in spherical coordinates representing
the volume of the region lying in the fir

St octant (ie.,z >0,y >0, 2> 0) and
* above the surface

® below the surface

® between the planes
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